MORITA CONTEXT FOR WEAK DOI-KOPPINEN SMASH PRODUCTS AND ITS APPLICATIONS

Zhongwei Wang, Yuanyuan Chen and Liangyun Zhang

Received: 20 December 2014; Revised: 24 July 2015 Communicated by Burcu Üngör

ABSTRACT. The paper is concerned with the Morita context for weak Doi-Koppinen smash products and the surjectivity of Morita maps are studied. As an application, we obtain a Morita context for endomorphism algebras for weak Doi-Hopf modules induced by coquasitriangular weak Hopf algebras.

Mathematics Subject Classification (2010): 16T05, 81R50 Keywords: Morita context, Doi-Koppinen smash product, coquasitriangular weak Hopf algebra, quantum commutative weak comodule algebra, endomorphism algebra

1. Introduction

Let H be a bialgebra and A a right H-comodule algebra. The relationship between A and its coinvariants subalgebra A^{coH} was studied in [3] from the viewpoint of Morita theory. It was shown that the generalized smash product #(H, A) and A^{coH} are always connected via a Morita context by using A and a right ideal of Aas the connecting bimodule.

It is well known that quasitriangular Hopf algebras (quantum groups), the definition of which is due to Drinfel'd [4], play a great role in both mathematics and physics. They are neither commutative nor cocommutative and satisfy the quantum Yang-Baxter equation. The dual notion of quasitriangular Hopf algebras is the coquasitriangular Hopf algebra which was introduced in [5].

From the time that the definition of weak Hopf algebras was introduced in [1], quasitriangular weak Hopf algebras were introduced and studied in [7] and [8]. As a generalization of ordinary Hopf algebras, weak Hopf algebras weaken the comultiplication of unit and the multiplication of count. They provide a good framework for studying symmetries of certain quantum field theories. It has turned out that many results of Hopf algebras can be generalized to weak Hopf algebras.

This research was supported by the National Natural Science Foundation of China (11401311, 11571173), the Natural Science Foundation of Jiangsu Province (BK20140676, BK20141358, BK20150113) and the Funds of Jinling Institute of Technology (2014-jit-n-08, jit-b-201402).

In recent years, many scholars have studied the weak Hopf algebra in some different fields, for example, Raposo studied crossed products for weak Hopf algebras in [10], Zhang and Li researched the separable extension of weak module algebras in [15], Wang and Zhang have drawn up the structure theorem and duality theorem for endomorphism algebras of weak Hopf algebras in [13], the authors studied the Maschke theorem for weak smash products based on quasitriangular weak Hopf algebras in [14], as well as the authors studied total integrals for weak Doi-Koppinen data in [12].

The main purpose of this paper is to study the connection between the Morita context for weak Doi-Koppinen smash products and the surjectivity of Morita maps, and obtain a Morita context for endomorphism algebras for weak Doi-Hopf modules induced by coquasitriangular weak Hopf algebras.

The main results are given the following.

Let *H* be a weak bialgebra, *A* a weak right *H*-comodule algebra and $\#_{H^L}(H, A)$ a weak Doi-Koppinen smash product. Then

$$(\#_{H^{L}}(H,A), A^{coH}, \#_{H^{L}}(H,A)A_{A^{coH}}, A^{coH}Q_{\#_{H^{L}}(H,A)})$$

forms a Morita context, where $Q = \{\lambda \in \#_{H^L}(H, A) \mid \lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)}h_1 = 1_{(0)}\lambda(h) \otimes 1_{(1)}$, for all $h \in H\}$. That gives the main result of Section 2, and the surjectivity of the Morita map G is also studied. In Section 3, we give a summary of properties concerning coquasitriangular weak Hopf algebras, and obtain a Morita context for endomorphism algebras induced by coquasitriangular weak Hopf algebras as an application of the Morita context for weak Doi-Koppinen smash products.

Throughout, we always work over a fixed field k and use the Sweedler's notation ([11]) for terminologies on coalgebras and comodules. For a coalgebra C, we write its comultiplication $\triangle(c) = c_1 \otimes c_2$, for any $c \in C$; for a right C-comodule M, we denote its coaction by $\rho(m) = m_{(0)} \otimes m_{(1)}$, for any $m \in M$. Any unexplained definitions and notations may be found in [6].

Definition 1.1. Let H be both an algebra and a coalgebra. Then H is called a *weak bialgebra* if it satisfies the following conditions:

$$\triangle(xy) = \triangle(x)\triangle(y),\tag{1}$$

for all $x, y \in H$, and

$$\varepsilon(xyz) = \varepsilon(xy_1)\varepsilon(y_2z) = \varepsilon(xy_2)\varepsilon(y_1z), \qquad (2)$$

$$\Delta^2(1_H) = (\Delta(1_H) \otimes 1_H)(1_H \otimes \Delta(1_H)), \tag{3}$$

$$= (1_H \otimes \triangle(1_H))(\triangle(1_H) \otimes 1_H), \tag{4}$$

for any $x, y, z \in H$, where $\triangle(1_H) = 1_1 \otimes 1_2$ and $\triangle^2 = (\triangle \otimes id_H) \circ \triangle$.

Moreover, if there exists a linear map $S: H \to H$, called antipode, satisfying the following axioms for all $h \in H$:

$$h_1 S(h_2) = \varepsilon(1_1 h) 1_2, \tag{5}$$

$$S(h_1)h_2 = \varepsilon(h1_1)1_2 \tag{6}$$

$$S(h_1)h_2S(h_3) = S(h),$$
 (7)

then the weak bialgebra H is called a *weak Hopf algebra*.

The antipode S of a weak Hopf algebra H is anti-multiplicative and anti-comultiplicative, and the unit and counit are S-invariants, that is, for any $h, g \in H$,

$$S(hg) = S(g)S(h), \ \triangle(S(h)) = S(h_2) \otimes S(h_1), \ S(1_H) = 1_H, \ \varepsilon \circ S = S.$$
(8)

Note that H is an ordinary bialgebra if and only if $\triangle(1_H) = 1_H \otimes 1_H$, and if and only if ε is a multiplication map.

For any weak bialgebra H, it is well known that the maps Π^L , $\Pi^R : H \to H$, $\overline{\Pi}^L$ and $\overline{\Pi}^R$ are projections. They are given by $\Pi^L(h) = \varepsilon(1_1h)1_2$, $\Pi^R(h) = \varepsilon(h1_2)1_1$, $\overline{\Pi}^L(g) = \varepsilon(1_2h)1_1$, $\overline{\Pi}^R(h) = \varepsilon(h1_1)1_2$. We write $H^L = Im\Pi^L = Im\overline{\Pi}^R$, $H^R = Im\Pi^R = Im\overline{\Pi}^L$.

Hence, by [2], we obtain

$$\triangle(1_H) = 1_1 \otimes 1_2 \in H^R \otimes H^L, \ xy = yx, \tag{9}$$

and

$$\triangle(x) = \mathbf{1}_1 x \otimes \mathbf{1}_2, \qquad \triangle(y) = \mathbf{1}_1 \otimes y \mathbf{1}_2, \tag{10}$$

$$\varepsilon(h\Pi^L(g)) = \varepsilon(hg), \qquad \varepsilon(hg) = \varepsilon(h\overline{\Pi}^L(g)),$$
(11)

$$\varepsilon(\Pi^R(h)g) = \varepsilon(hg), \qquad \varepsilon(hg) = \varepsilon(\overline{\Pi}^R(h)g),$$
(12)

$$h\Pi^{L}(g) = \varepsilon(h_{1}g)h_{2}, \qquad g_{1}\varepsilon(hg_{2}) = \Pi^{R}(h)g,$$
(13)

$$h\overline{\Pi}^{L}(g) = \varepsilon(h_2g)h_1, \qquad g_2\varepsilon(hg_1) = \overline{\Pi}^{L}(h)g,$$
(14)

$$h_1 \otimes \Pi^L(h_2) = 1_1 h \otimes 1_2, \qquad \Pi^R(h_1) \otimes h_2 = 1_1 \otimes h 1_2,$$
 (15)

$$\overline{\Pi}^{L}(h_{1}) \otimes h_{2} = 1_{1} \otimes 1_{2}h, \qquad h_{1} \otimes \overline{\Pi}^{R}(h_{2}) = h1_{1} \otimes 1_{2}, \tag{16}$$

for any $h, g \in H, x \in H^L, y \in H^R$.

For a weak Hopf algebra H with antipode S, we have the following assertions:

$$\Pi^L \circ S = \Pi^L \circ \Pi^R = S \circ \Pi^R, \qquad \Pi^R \circ S = \Pi^R \circ \Pi^L = S \circ \Pi^L, \tag{17}$$

$$\Pi^{L}(h_{1}) \otimes h_{2} = S(1_{1}) \otimes 1_{2}h, \qquad h_{1} \otimes \Pi^{R}(h_{2}) = h1_{1} \otimes S(1_{2}), \tag{18}$$

$$h_1 \otimes \overline{\Pi}^L(h_2) = S(1_2)h \otimes 1_1, \qquad \overline{\Pi}^R(h_1) \otimes h_2 = 1_2 \otimes hS(1_1), \tag{19}$$

for any $h \in H$.

Definition 1.2. Let H be a weak bialgebra, and A a right H-comodule, which is also an algebra with a unit, such that

$$\rho_A(ab) = \rho_A(a)\rho_A(b),\tag{20}$$

for all $a, b \in A$. Then, by [2], A is called a *weak right H-comodule algebra* if the following equivalent statements hold:

$$\rho_A^2(1_A) = 1_{(0)} \otimes 1_1 1_{(1)} \otimes 1_2, \qquad (21)$$

$$a_{(0)} \otimes \overline{\Pi}^R(a_{(1)}) = a \mathbf{1}_{(0)} \otimes \mathbf{1}_{(1)},$$
 (22)

$$a_{(0)} \otimes \Pi^L(a_{(1)}) = 1_{(0)} a \otimes 1_{(1)},$$
 (23)

$$\rho_A(1_A) \in A \otimes H^L, \tag{24}$$

for all $a \in A$, where $\rho_A^2 = (\rho_A \otimes id_H) \circ \rho_A$.

Definition 1.3. Let H be a weak bialgebra, and A a weak right H-comodule algebra. If M is both a left A-module and a right H-comudule such that for all $a \in A$ and $m \in M$,

$$\rho(a \cdot m) = a_{(0)} \cdot m_{(0)} \otimes a_{(1)} m_{(1)}, \tag{25}$$

then M is called a *weak left-right Doi-Hopf module*.

From now on, ${}_{A}\mathfrak{M}^{H}$ will denote the category of weak left-right Doi-Hopf modules. In a similar way, we can define weak right Doi-Hopf modules.

Let H be a weak bialgebra, and A a weak right H-comodule algebra. The Hcoinvariants subalgebra of A is defined by

$$A^{coH} = \{ x \in A \mid x_{(0)} \otimes x_{(1)} = |x_{(0)} \otimes \Pi^L(x_{(1)}) \}.$$

Then, by [10], $A^{coH} = \{x \in A \mid x_{(0)} \otimes x_{(1)} = 1_{(0)}x \otimes 1_{(1)}\}.$

2. Morita context for weak Doi-Koppinen smash products

In this section, we mainly concern with the Morita context for weak Doi-Koppinen smash products. Consequently, the surjectivity of the Morita maps are studied.

Let H be a weak bialgebra, and A a weak right H-comodule algebra. Define a left action on A by for any $a \in A$ and $x \in H^L$,

$$x \to a = a_{(0)}\varepsilon(a_{(1)}x). \tag{26}$$

Then, it is not difficult to prove that (A, \rightarrow) is a left H^L -module. Hence, as in [13], we can form a generalized smash product $\#_{H^L}(H, A) = Hom_{H^L}(H, A)$ as a space whose multiplication is defined by

$$(\alpha * \beta)(h) = \alpha(\beta(h_2)_{(1)}h_1)\beta(h_2)_{(0)}, \qquad (27)$$

for any $\alpha, \beta \in \#_{H^L}(H, A)$ and $h \in H$, where $Hom_{H^L}(H, A)$ is the set of left H^L module maps from H to A. Then $\#_{H^L}(H, A)$ is an associative algebra with identity element, denoted by $1_{\#_{H^L}(H,A)}$, $(1_{\#_{H^L}(H,A)}(h) = \varepsilon(1_{(1)}h)1_{(0)}$ for all $h \in H$, but is not $\mu \circ \varepsilon$ in [13]). In the following, we call the algebra a weak Doi-Koppinen smash product.

Lemma 2.1. Let $\#_{H^L}(H, A)$ be a weak Doi-Koppinen smash product. Then A can be viewed as a subalgebra of $\#_{H^L}(H, A)$ by identifying $a \in A$ with the map

$$i_a: H \to A, h \mapsto \varepsilon_H(1_{(1)}h)a1_{(0)}.$$

In what follows, we write a for i_a .

Proof. Let us check that the map $i_a \in \#_{H^L}(H, A)$. For any $a \in A$ and $x \in H^L$,

$$\begin{aligned} x \to i_a(h) &= \varepsilon(1_{(1)}h)x \to (a1_{(0)}) = \varepsilon(1_{(2)}h)\varepsilon(a_{(1)}1_{(1)}x)a_{(0)}1_{(0)} \\ &= \varepsilon(a_{(1)}1_{(1)}\overline{\Pi}^L(h)x)a_{(0)}1_{(0)} = \varepsilon(a_{(1)}\overline{\Pi}^L(h)x)a_{(0)} \\ \stackrel{(9)}{=} \varepsilon(a_{(1)}x\overline{\Pi}^L(h))a_{(0)} \stackrel{(11)}{=} \varepsilon(a_{(1)}xh)a_{(0)} \\ \stackrel{(2)}{=} \varepsilon(a_{(1)}1_1)\varepsilon(1_2xh)a_{(0)} = \varepsilon(a_{(1)}1_{(1)}1_1)\varepsilon(1_2xh)a_{(0)}1_{(0)} \\ \stackrel{(21)}{=} \varepsilon(a_{(1)}1_{(1)}1)\varepsilon(1_{(1)2}xh)a_{(0)}1_{(0)} = \varepsilon(a_{(1)}1_{(1)}xh)a_{(0)}1_{(0)} \\ &= \varepsilon(a_{(1)}xh)a_{(0)} \stackrel{(12)}{=} \varepsilon(\overline{\Pi}^R(a_{(1)})xh)a_{(0)} \\ \stackrel{(22)}{=} \varepsilon(1_{(1)}xh)a_{1_{(0)}} = i_a(xh). \end{aligned}$$

Lemma 2.2. Let $\#_{H^L}(H, A)$ be a weak Doi-Koppinen smash product. Then the following equations hold:

- (1) $(a * \beta)(h) = a\beta(h)$, so, let us write $a\beta$ for $a * \beta$,
- (2) $(\alpha * a)(h) = \alpha(a_{(1)}h)a_{(0)}$, in particular, $(\alpha * 1_A)(1_H) = \alpha(1_H)$,

for any $a \in A, \alpha, \beta \in \#_{H^L}(H, A)$ and $h \in H$.

Proof. Since A is a subalgebra of $\#_{H^L}(H, A)$ by Lemma 2.1, we have

$$\begin{aligned} (a*\beta)(h) &\stackrel{(21)}{=} & a(\beta(h_2)_{(1)}h_1)\beta(h_2)_{(0)} = \varepsilon(1_{(1)}\beta(h_2)_{(1)}h_1)a1_{(0)}\beta(h_2)_{(0)} \\ &= & \varepsilon(\beta(h_2)_{(1)}h_1)a\beta(h_2)_{(0)} = \varepsilon(\beta(h_2)_{(1)}1_1)\varepsilon(1_2h_1)a\beta(h_2)_{(0)} \\ &= & \varepsilon(\beta(h_2)_{(1)}1_{(1)}1_1)\varepsilon(1_2h_1)a\beta(h_2)_{(0)}1_{(0)} \stackrel{(21)}{=} \varepsilon(1_{(1)}h_1)a\beta(h_2)1_{(0)} \\ &\stackrel{(14)}{=} & a\beta(\overline{\Pi}^R(1_{(1)})h)1_{(0)} = a\beta(1_{(1)}h)1_{(0)} = a(1_{(1)} \to \beta(h))1_{(0)} \\ &\stackrel{(26)}{=} & a\beta(h)_{(0)}1_{(0)}\varepsilon(\beta(h)_{(1)}1_{(1)}) = a\beta(h). \end{aligned}$$

That is, (1) holds. Moreover,

$$\begin{aligned} (\alpha * a)(h) &= \alpha(a(h_2)_{(1)}h_1)a(h_2)_{(0)} = \alpha(\varepsilon(1_{(1)}h_2)(a1_{(0)})_{(1)}h_1)(a1_{(0)})_{(0)} \\ &= \varepsilon(1_{(2)}h_2)\alpha(a_{(1)}1_{(1)}h_1)a_{(0)}1_{(0)} = \alpha(a_{(1)}1_{(1)}h_1)a_{(0)}1_{(0)} \\ &= \alpha(a_{(1)}h)a_{(0)}, \end{aligned}$$

so, (2) holds.

In particular,

$$\begin{aligned} (\alpha * 1_A)(1_H) &= & \alpha(1_{(1)})1_{(0)} = (1_{(1)} \to \alpha(1_H))1_{(0)} \\ &= & \varepsilon(\alpha(1_H)_{(1)}1_{(1)})\alpha(1_H)_{(0)}1_{(0)} \\ &= & \alpha(1_H). \end{aligned}$$

Lemma 2.3. The left regular A-module A can be extended to a left $\#_{H^L}(H, A)$ -module by the following rule

$$\alpha \rightharpoonup a = \alpha(a_{(1)})a_{(0)} = (\alpha * a)(1_H), \tag{28}$$

for all $a \in A$ and $\alpha \in \#_{H^L}(H, A)$. Furthermore, A is a $(\#_{H^L}(H, A), A^{coH})$ bimodule, where A is a right A^{coH} -module via the multiplication of A.

Proof. For any $a \in A$ and $\alpha, \beta \in \#_{H^L}(H, A)$,

$$\begin{aligned} (\alpha * \beta) &\rightharpoonup a &= (\alpha * \beta)(a_{(1)})a_{(0)} = \alpha(\beta(a_{(1)2})_{(1)}a_{(1)1})\beta(a_{(1)2})_{(0)}a_{(0)} \\ &= \alpha(\beta(a_{(1)})_{(1)}a_{(0)(1)})\beta(a_{(1)})_{(0)}a_{(0)(0)} \\ &= \alpha((\beta(a_{(1)})a_{(0)})_{(1)})(\beta(a_{(1)})a_{(0)})_{(0)} \\ &= \alpha \rightharpoonup (\beta \rightharpoonup a), \end{aligned}$$

and $1_{\#_{H^L}(H,A)} \rightharpoonup a = 1_{\#_{H^L}(H,A)}(a_{(1)})a_{(0)} = \varepsilon(1_{(1)}a_{(1)})1_{(0)}a_{(0)} = a.$

The second equation of (28) holds by Lemma 2.2. Furthermore, for any $a \in A, x \in A^{coH}$ and $\alpha \in \#_{H^L}(H, A)$, we have

$$\begin{array}{lll} \alpha \rightharpoonup (ax) & = & \alpha(a_{(1)}x_{(1)})a_{(0)}x_{(0)} = \alpha(a_{(1)}\Pi^{L}(x_{(1)}))a_{(0)}x_{(0)} \\ & \stackrel{(23)}{=} & \alpha(a_{(1)}1_{(1)})a_{(0)}1_{(0)}x = \alpha(a_{(1)})a_{(0)}x \\ & = & (\alpha \rightharpoonup a)x. \end{array}$$

By the above proof, we know that A is a $(\#_{H^L}(H, A), A^{coH})$ -bimodule, which completes the proof of the lemma.

Lemma 2.4. Define the set

 $Q = \{\lambda \in \#_{H^L}(H, A) \mid \lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)}h_1 = 1_{(0)}\lambda(h) \otimes 1_{(1)}, \text{ for all } h \in H\}.$ Then, for any $\lambda \in Q$ and $\alpha \in \#_{H^L}(H, A)$,

$$\alpha * \lambda = \alpha(1_H)\lambda,\tag{29}$$

and Q is a right ideal of $\#_{H^L}(H, A)$. Furthermore, Q is a $(A^{coH}, \#_{H^L}(H, A))$ -bimodule.

Proof. First, for any $h \in H, \lambda \in Q$ and $\alpha \in \#_{H^L}(H, A)$, by Lemma 2.2, we have

$$\begin{aligned} (\alpha * \lambda)(h) &= \alpha(\lambda(h_2)_{(1)}h_1)\lambda(h_2)_{(0)} = \alpha(1_{(1)})1_{(0)}\lambda(h) \\ &= \alpha(1_H)\lambda(h). \end{aligned}$$

Next, the following calculation shows that Q is a right ideal: for any $h \in H, \lambda \in Q$ and $\alpha \in \#_{H^L}(H, A)$,

$$\begin{aligned} (\lambda * \alpha)(h_2)_{(0)} \otimes (\lambda * \alpha)(h_2)_{(1)}h_1 \\ &= (\lambda(\alpha(h_3)_{(1)}h_2)\alpha(h_3)_{(0)})_{(0)} \otimes (\lambda(\alpha(h_3)_{(1)}h_2)\alpha(h_3)_{(0)})_{(1)}h_1 \\ \stackrel{(20)}{=} \lambda(\alpha(h_3)_{(2)}h_2)_{(0)}\alpha(h_3)_{(0)} \otimes \lambda(\alpha(h_3)_{(2)}h_2)_{(1)}\alpha(h_3)_{(1)}h_1 \\ &= 1_{(0)}\lambda(\alpha(h_2)_{(1)}h_1)\alpha(h_2)_{(0)} \otimes 1_{(1)} \\ &= 1_{(0)}(\lambda * \alpha)(h) \otimes 1_{(1)}. \end{aligned}$$

Last, let us check Q to be an $(A^{coH}, \#_{H^L}(H, A))$ -bimodule. In fact, if $x \in A^{coH}$, then $x\lambda \in Q$ for any $\lambda \in Q$. That is because

$$\begin{aligned} (x\lambda)(h_2)_{(0)} \otimes (x\lambda)(h_2)_{(1)}h_1 &= (x\lambda(h_2))_{(0)} \otimes (x\lambda(h_2))_{(1)}h_1 \\ &= x_{(0)}\lambda(h_2)_{(0)} \otimes x_{(1)}\lambda(h_2)_{(1)}h_1 \\ &= x1_{(0)}\lambda(h_2)_{(0)} \otimes 1_{(1)}\lambda(h_2)_{(1)}h_1 \\ &= x\lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)}h_1 \\ &= x1_{(0)}\lambda(h) \otimes 1_{(1)} = 1_{(0)}x\lambda(h) \otimes 1_{(1)} \\ &= 1_{(0)}(x\lambda)(h) \otimes 1_{(1)}, \end{aligned}$$

the last second equality holds since for $x \in A^{coH}$, we have $x1_{(0)} \otimes 1_{(1)} = x_{(0)} \otimes x_{(1)} = x_{(0)} \otimes \pi^{L}(x_{(1)}) \stackrel{(23)}{=} 1_{(0)}x \otimes 1_{(1)}$. Hence, we know that Q is a $(A^{coH}, \#_{H^{L}}(H, A))$ -bimodule since Q is a right ideal of $\#_{H^{L}}(H, A)$, which completes our proof. \Box

Corollary 2.5. If H has an antipode S (i.e. H is a weak Hopf algebra), then

$$Q = \{\lambda \in \#_{H^L}(H, A) \mid \lambda(h_2) \mathbf{1}_{(0)} \otimes S(\mathbf{1}_{(1)}) h_1 = \lambda(h)_{(0)} \otimes S(\lambda(h)_{(1)}) \text{ for all } h \in H\}.$$

Proof. Since for any $a \in A$,

$$\begin{aligned} a_{(0)} \otimes \Pi^R(a_{(1)}) &= a_{(0)} \otimes \varepsilon(a_{(1)}1_2)1_1 \\ &= a_{(0)}1_{(0)} \otimes \varepsilon(a_{(1)}1_{(1)}1_2)1_1 \\ &= a_{(0)}1_{(0)} \otimes \varepsilon(a_{(1)}1_{(1)1})\varepsilon(1_{(1)2}1_2)1_1 \\ &= a1_{(0)} \otimes \varepsilon(1_{(1)}1_2)1_1 \\ &= a1_{(0)} \otimes \Pi^R(1_1) = a1_{(0)} \otimes S(1_{(1)}), \end{aligned}$$

if $\lambda \in Q$, then for all $h \in H$,

 $\begin{aligned} (\rho_A \otimes id_H)(\lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)}h_1) &= (\rho_A \otimes id_H)(1_{(0)}\lambda(h) \otimes 1_{(1)}) \\ \implies \lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)} \otimes \lambda(h_2)_{(2)}h_1 &= 1_{(0)}\lambda(h)_{(0)} \otimes 1_{(1)}\lambda(h)_{(1)} \otimes 1_{(2)} \\ \implies \lambda(h_2)_{(0)} \otimes S(\lambda(h_2)_{(1)}) \otimes \lambda(h_2)_{(2)}h_1 &= 1_{(0)}\lambda(h)_{(0)} \otimes S(1_{(1)}\lambda(h)_{(1)}) \otimes 1_{(2)} \\ \implies \lambda(h_2)_{(0)} \otimes S(\lambda(h_2)_{(1)})\lambda(h_2)_{(2)}h_1 &= 1_{(0)}\lambda(h)_{(0)} \otimes S(1_{(1)}\lambda(h)_{(1)})1_{(2)} \\ \implies \lambda(h_2)_{(0)} \otimes \Pi^R(\lambda(h_2)_{(1)})h_1 &= 1_{(0)}\lambda(h)_{(0)} \otimes S(\lambda(h)_{(1)})\Pi^R(1_{(1)}) \\ \implies \lambda(h_2)1_{(0)} \otimes S(1_{(1)})h_1 &= 1_{(0)}\lambda(h)_{(0)} \otimes S(\lambda(h)_{(1)})S(1_{(1)}) \\ \implies \lambda(h_2)1_{(0)} \otimes S(1_{(1)})h_1 &= \lambda(h)_{(0)} \otimes S(\lambda(h)_{(1)}). \end{aligned}$

Conversely, if $\lambda(h_2)1_{(0)} \otimes S(1_{(1)})h_1 = \lambda(h)_{(0)} \otimes S(\lambda(h)_{(1)})$ for some $\lambda \in \#_{H^L}(H, A)$, then

$$\begin{aligned} \lambda(h_2)_{(0)} 1_{(0)} \otimes \lambda(h_2)_{(1)} 1_{(1)} \otimes S(1_{(2)}) h_1 &= \lambda(h)_{(0)} \otimes \lambda(h)_{(1)} \otimes S(\lambda(h)_{(2)}) \\ \implies & \lambda(h_2)_{(0)} 1_{(0)} \otimes \lambda(h_2)_{(1)} 1_{(1)} S(1_{(2)}) h_1 &= \lambda(h)_{(0)} \otimes \lambda(h)_{(1)} S(\lambda(h)_{(2)}) \\ \implies & \lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)} h_1 &= \lambda(h)_{(0)} \otimes \Pi^L(\lambda(h)_{(1)}) \\ \stackrel{(23)}{\implies} & \lambda(h_2)_{(0)} \otimes \lambda(h_2)_{(1)} h_1 &= 1_{(0)} \lambda(h) \otimes 1_{(1)}, \end{aligned}$$

that is, $\lambda \in Q$, which completes the proof of this corollary.

Lemma 2.6. The following associativity relations hold:

(1) $(a\lambda) \rightarrow b = a(\lambda \rightarrow b),$ (2) $(\alpha \rightarrow a)\lambda = \alpha * (a\lambda),$

for all $a, b \in A, \lambda \in Q$ and $\alpha \in \#_{H^L}(H, A)$.

Proof. The proof is straightforward by Lemma 2.2.

According to Lemma 2.3, we know that A is a $(\#_{H^L}(H, A), A^{coH})$ -bimodule, and by Lemma 2.4, Q is a $(A^{coH}, \#_{H^L}(H, A))$ -bimodule, so, we obtain two tensor products $A \otimes_{A^{coH}} Q$ and $Q \otimes_{\#_{H^L}(H,A)} A$. Hence we have the following lemma.

Lemma 2.7. The map

$$F: A \otimes_{A^{coH}} Q \to \#_{H^L}(H, A), \ F(a \otimes_{A^{coH}} \lambda) = a\lambda,$$

is a $\#_{H^L}(H, A)$ -bimodule map, where $A \otimes_{A^{coH}} Q$ denotes the relative tensor product of A and Q on A^{coH} . And the map

$$G: Q \otimes_{\#_{H^L}(H,A)} A \to A^{coH}, \ G(\lambda \otimes_{\#_{H^L}(H,A)} a) = \lambda \rightharpoonup a,$$

is an A^{coH} -bimodule map.

Proof. It is obvious that $A \otimes_{A^{coH}} Q$ is a left $\#_{H^L}(H, A)$ -module via $\alpha \cdot (a \otimes_{A^{coH}} \lambda) = \alpha \rightharpoonup a \otimes_{A^{coH}} \lambda$, and a right $\#_{H^L}(H, A)$ -module via $(a \otimes_{A^{coH}} \lambda) \cdot \alpha = a \otimes_{A^{coH}} \lambda * \alpha$, for any $a \in A, \lambda \in Q$ and $\alpha \in \#_{H^L}(H, A)$.

8

F is a left $\#_{H^L}(H, A)$ -module map. Since by Lemma 2.6 we have

$$F(\alpha \cdot (a \otimes_{A^{coH}} \lambda)) = F(\alpha \rightharpoonup a \otimes_{A^{coH}} \lambda) = (\alpha \rightharpoonup a)\lambda$$
$$= \alpha * (a\lambda) = \alpha * F(a \otimes_{A^{coH}} \lambda).$$

And F is a right $\#_{H^L}(H, A)$ -module map. This is because

$$F((a \otimes_{A^{coH}} \lambda) \cdot \alpha) = F(a \otimes_{A^{coH}} \lambda * \alpha) = a(\lambda * \alpha)$$
$$= (a\lambda) * \alpha = F(a \otimes_{A^{coH}} \lambda) * \alpha.$$

It is obvious that $Q \otimes_{\#_{H^L}(H,A)} A$ is a left A^{coH} -module via $x \cdot (\lambda \otimes_{\#_{H^L}(H,A)} a) = x\lambda \otimes_{\#_{H^L}(H,A)} a$ by Lemma 2.4, and a right A^{coH} -module via $(\lambda \otimes a) \cdot x = \lambda \otimes_{\#_{H^L}(H,A)} a$, for any $a \in A, x \in A^{coH}$ and $\lambda \in Q$.

 ${\cal G}$ is well defined:

$$\rho_A(\lambda \rightharpoonup a) = \rho_A(\lambda(a_{(1)})a_{(0)}) = \lambda(a_{(2)})_{(0)}a_{(0)} \otimes \lambda(a_{(2)})_{(1)}a_{(1)} \\
= 1_{(0)}\lambda(a_{(1)})a_{(0)} \otimes 1_{(1)} = 1_{(0)}(\lambda \rightharpoonup a) \otimes 1_{(1)}.$$

 $\begin{array}{l}G \text{ is a left } A^{coH}\text{-module map: } G(x \cdot (\lambda \otimes_{\#_{H^{L}}(H,A)} a)) = G(x\lambda \otimes_{\#_{H^{L}}(H,A)} a) = \\(x\lambda) \rightharpoonup a = x(\lambda \rightharpoonup a) = xG(\lambda \otimes_{\#_{H^{L}}(H,A)} a). \quad \text{And } G \text{ is a right } A^{coH}\text{-module}\\ \text{map: } G((\lambda \otimes_{\#_{H^{L}}(H,A)} a) \cdot x) = G(\lambda \otimes_{\#_{H^{L}}(H,A)} ax) = \lambda \rightharpoonup (ax) = (\lambda \rightharpoonup a)x = \\G(\lambda \otimes_{\#_{H^{L}}(H,A)} a)x, \text{ where the third equation holds since } A \text{ is a } (\#_{H^{L}}(H,A), A^{coH})\text{-}\\ \text{bimodule, which completes our proof.} \qquad \Box$

Thus, by the above lemmas, we obtain the following result.

Theorem 2.8. Let H be a weak bialgebra, A a weak right H-comodule algebra, and $\#_{H^L}(H, A)$ a weak Doi-Koppinen smash product. Then

$$(\#_{H^{L}}(H,A), A^{coH}, \#_{H^{L}}(H,A)A_{A^{coH}}, A^{coH}Q_{\#_{H^{L}}(H,A)})$$

forms a Morita context.

Corollary 2.9. Let H be a finite dimensional weak Hopf algebra with bijective antipode S, A a weak right H-comodule algebra, and $\#_{H^L}(H, A)$ a weak Doi-Koppinen smash product. Then

$$(A \# H^*, A^{coH}, {}_{A \# H^*} A_{A^{coH}}, {}_{A^{coH}} Q_{A \# H^*})$$

forms a Morita context.

Proof. Since H is a finite dimensional weak Hopf algebra, the weak right Hcomodule algebra A has a weak left H^* -module algebra structure in the natural
way, and $\#_{H^L}(H, A) \cong A \# H^*$ as algebras [Remark 3.3, 11], then the conclusion
holds by Theorem 2.8.

In the following, the Morita maps F and G are studied.

Lemma 2.10. For any left $\#_{H^L}(H, A)$ -module M, define $M_H = \{m \in M \mid \alpha \cdot m = \alpha(1_H) \cdot m$, for all $\alpha \in \#_{H^L}(H, A)\}$. Then

$$M_H \cong \#_{_{HL}(H,A)}Hom(A,M),$$

where $\#_{H^{L}(H,A)}Hom(A,M)$ denotes the set of left $\#_{H^{L}}(H,A)$ -linear maps from A to M.

Proof. Define

$$\psi: M_H \to {}_{\#_{H^L}(H,A)}Hom(A,M), \ m \mapsto (a \mapsto a \cdot m).$$

The map ψ is well defined, that is, $\psi(m) \in {}_{\#_{H^L}(H,A)}Hom(A,M)$ for any $m \in M_H$. Since for any $\alpha \in {}_{H^L}(H,A)$, $\psi(m)(\alpha \rightharpoonup a) = (\alpha \rightharpoonup a) \cdot m \stackrel{(28)}{=} (\alpha * a)(1_H) \cdot m = (\alpha * a) \cdot m = \alpha \cdot (a \cdot m) = \alpha \cdot \psi(m)(a)$.

Define

$$\phi: {}_{\#_{\mu L}(H,A)}Hom(A,M) \to M_H, \ \nu \mapsto \nu(1_A).$$

The map ϕ is well defined, that is, $\nu(1_A) \in M_H$ for any $\nu \in \#_{H^L}(H,A) Hom(A, M)$. Since for any $\alpha \in \#_{H^L}(H, A)$, $\alpha \cdot \nu(1_A) = \nu(\alpha \rightharpoonup 1_A) = \nu(\alpha(1_{(1)})1_{(0)}) = \nu(\alpha(1_H)) = \alpha(1_H) \cdot \nu(1_A)$. Moreover, for any $a \in A, m \in M_H$, and $\nu \in \#_{H^L}(H,A) Hom(A, M)$,

$$\begin{aligned} \phi\psi(m) &= \psi(m)(1_A) = m, \\ \psi\phi(\nu)(a) &= a \cdot \phi(\nu) = a \cdot \nu(1_A) = \nu(a). \end{aligned}$$

Hence, ψ is invertible with inverse ϕ .

Lemma 2.11. If $M \in {}_{A}\mathfrak{M}^{H}$, then M can be viewed as a left $\#_{H^{L}}(H, A)$ -module via

$$\alpha \cdot m = \alpha(m_{(1)}) \cdot m_{(0)}, \tag{30}$$

for all $m \in M$ and $\alpha \in \#_{H^L}(H, A)$.

Proof. The proof is straightforward.

According to Lemma 2.2, we get the next.

Remark. Let H be a weak bialgebra, A a weak right H-comodule algebra, and $\#_{H^L}(H, A)$ a weak Doi-Koppinen smash product. Define $M^{coH} = \{m \in M \mid m_{(0)} \otimes m_{(1)} = 1_{(0)} \cdot m \otimes 1_{(1)}\}$, for any $M \in {}_A\mathfrak{M}^H$. Then

$$A^{coH} \subseteq A_H, M^{coH} \subseteq M_H.$$

Theorem 2.12. In the Morita context $(\#_{H^L}(H, A), A^{coH}, \#_{H^L}(H, A)A_{A^{coH}}, A^{coH}Q_{\#_{H^L}(H, A)}),$ the following (a)-(c) are equivalent:

- (a) $G: Q \otimes_{\#_{H^L}(H,A)} A \to A^{coH}, \ G(\lambda \otimes_{\#_{H^L}(H,A)} a) = \lambda \rightharpoonup a \text{ is surjective (bijective).}$
- (b) There exists an element $\theta \in Q$ such that $\theta(1_H) = 1_A$.
- (c) For any left $\#_{H^L}(H, A)$ -module M,

$$\xi_M: Q \otimes_{\#_{H^L}(H,A)} M \to M_H, \lambda \otimes_{\#_{H^L}(H,A)} m \mapsto \lambda \cdot m$$

is a left A^{coH} -module isomorphism.

If these conditions hold, then we have

- (d) $M_H = M^{coH}$ for all $M \in {}_A\mathfrak{M}^H$.
- (e) θ as in (b) is an idempotent element in $\#_{H^L}(H, A)$, and as algebras

$$\theta * \#_{H^L}(H, A) * \theta = A^{coH} \theta \cong A^{coH}$$

(f) For any left A^{coH} -module N,

$$\Phi_N: N \to (A \otimes_{A^{coH}} N)^{coH}, \ n \mapsto 1_A \otimes n$$

is an isomorphism.

(g) A^{coH} is a right A^{coH} -direct summand of A.

Proof. By Lemma 2.7, we know that the map G is well defined.

(a) \Rightarrow (b) Assume that *G* is surjective. Then, there exists an element $\Sigma \lambda_i \otimes_{\#_{H^L}(H,A)} a_i \in Q \otimes_{\#_{H^L}(H,A)} A$ such that $\Sigma \lambda_i \rightharpoonup a_i = 1_A$. Set $\theta = \Sigma \lambda_i * a_i$. Then $\theta \in Q$ since *Q* is a right ideal of $\#_{H^L}(H,A)$. Moreover, $\theta(1_H) = (\Sigma \lambda_i * a_i)(1_H) = \Sigma \lambda_i \rightharpoonup a_i = 1_A$.

(b) \Rightarrow (c) First, $Q \otimes_{\#_{H^L}(H,A)} M$ is a left A^{coH} -module via the left multiplication of $\#_{H^L}(H,A)$ as defined in Lemma 2.7.

Next, let $\theta \in Q$ with $\theta(1_H) = 1_A$. For any left $\#_{H^L}(H, A)$ -module M, define $\chi_M : M_H \to Q \otimes_{\#_{H^L}(H,A)} M$ by $\chi_M(m) = \theta \otimes_{\#_{H^L}(H,A)} m$, for any $m \in M_H$. Then, for any $\lambda \in Q$,

$$\begin{aligned} \xi_M \circ \chi_M(m) &= \theta \cdot m = \theta(1_H) \cdot m = m, \\ \chi_M \circ \xi_M(\lambda \otimes_{\#_{H^L}(H,A)} m) &= \chi_M(\lambda \cdot m) = \theta \otimes_{\#_{H^L}(H,A)} \lambda \cdot m \\ &= \theta * \lambda \otimes_{\#_{H^L}(H,A)} m \stackrel{(29)}{=} \theta(1_H) \lambda \otimes_{\#_{H^L}(H,A)} m \\ &= \lambda \otimes_{\#_{H^L}(H,A)} m. \end{aligned}$$

Hence, ξ_M is bijective. It is obvious that ξ_M is a left A^{coH} -module map.

(c) \Rightarrow (a) If taking M = A, we know that $G = \xi_A$ is bijective with $A^{coH} = A_H$ since $A^{coH} \subseteq A_H$ by Remark.

(d) It is easy to see that $M^{coH} \subseteq M_H$. Let $m \in M_H$. Then

$$m = 1_A \cdot m = \theta(1_H) \cdot m = \theta \cdot m$$

$$\stackrel{(30)}{=} \quad \theta(m_{(1)}) \cdot m_{(0)},$$

so,

$$\rho_M(m) = \rho_M(\theta(m_{(1)}) \cdot m_{(0)}) = \theta(m_{(2)})_{(0)} \cdot m_{(0)} \otimes \theta(m_{(2)})_{(1)} m_{(1)} \\
= 1_{(0)} \cdot (\theta(m_{(1)}) \cdot m_{(0)}) \otimes 1_{(1)} \\
= 1_{(0)} \cdot m \otimes 1_{(1)},$$

that is, $m \in M^{coH}$, $M_H \subseteq M^{coH}$.

(e) Clearly θ is an idempotent element in $\#_{H^L}(H, A)$, since for all $h \in H$, by Lemma 2.2,

$$\theta^{2}(h) = (\theta * \theta)(h) \stackrel{(29)}{=} (\theta(1_{H})\theta)(h)$$
$$= (1_{A}\theta)(h) = \theta(h).$$

Next, for all $\alpha \in \#_{H^L}(H, A)$, we have

$$\rho_{A}(\theta \rightarrow \alpha(1_{H})) \stackrel{(28)}{=} \rho_{A}(\theta(\alpha(1_{H})_{(1)})\alpha(1_{H})_{(0)}) \\
= \theta(\alpha(1_{H})_{(1)})_{(0)}\alpha(1_{H})_{(0)(0)} \otimes \theta(\alpha(1_{H})_{(1)})_{(1)}\alpha(1_{H})_{(0)(1)} \\
= \theta(\alpha(1_{H})_{(1)2})_{(0)}\alpha(1_{H})_{(0)} \otimes \theta(\alpha(1_{H})_{(1)2})_{(1)}\alpha(1_{H})_{(1)1} \\
= 1_{(0)}\theta(\alpha(1_{H})_{(1)})\alpha(1_{H})_{(0)} \otimes 1_{(1)} \text{ (by Lemma 2.4)} \\
= 1_{(0)}(\theta \rightarrow \alpha(1_{H})) \otimes 1_{(1)},$$

so, $\theta \rightharpoonup \alpha(1_H) \in A^{coH}$. Hence we have

$$\begin{array}{ll} \theta * \alpha * \theta & \stackrel{(29)}{=} & (\theta * \alpha)(1_H)\theta = \theta(\alpha(1_2)_{(1)}1_1)\alpha(1_2)_{(0)}\theta \\ & = & \theta((1_2 \to \alpha(1_H))_{(1)}1_1)(1_2 \to \alpha(1_H))_{(0)}\theta & (\alpha \in \#_{H^L}(H, A)) \\ & \stackrel{(26)}{=} & \varepsilon(\alpha(1_H)_{(1)}1_2)\theta(\alpha(1_H)_{(0)(1)}1_1)\alpha(1_H)_{(0)(0)}\theta \\ & = & \theta(\alpha(1_H)_{(1)})\alpha(1_H)_{(0)}\theta = (\theta \to \alpha(1_H))\theta \in A^{coH}\theta, \end{array}$$

that is, we know that $\theta * \#_{H^L}(H, A) * \theta \subseteq A^{coH}\theta$. In particular, for any $x \in A^{coH}$, $\theta * x * \theta = (\theta \rightharpoonup x)\theta = \theta(x_{(1)})x_{(0)}\theta = \theta(1_{(1)})1_{(0)}x\theta = \theta(1_H)x\theta = x\theta$, which shows $A^{coH}\theta \subseteq \theta * \#_{H^L}(H, A) * \theta$, hence $\theta * \#_{H^L}(H, A) * \theta = A^{coH}\theta$.

It is easy to verify that the map $\omega : A^{coH} \to A^{coH}\theta, x \mapsto x\theta$ is an isomorphism of algebras.

(f) Φ_N is the composition of the following canonical isomorphisms:

 $N \cong A^{coH} \otimes_{A^{coH}} N \stackrel{(a)}{\cong} Q \otimes_{\#_{H^{L}}(H,A)} A \otimes_{A^{coH}} N \stackrel{(c)}{\cong} (A \otimes_{A^{coH}} N)_{H} \stackrel{(d)}{=} (A \otimes_{A^{coH}} N)^{coH}.$ (g) Let $\pi : A \to A^{coH}, a \mapsto \theta \rightharpoonup a$. Then, by Lemma 2.7, the map π is well defined, and right A^{coH} -linear since A is a $(\#_{H^{L}}(H,A), A^{coH})$ -bimodule by Lemma 2.3.

Moreover, for any $x \in A^{coH}$, $\pi(x) = \theta \rightarrow x = \theta(x_{(1)})x_{(0)} = \theta(1_{(1)})1_{(0)}x = x$, Hence, A^{coH} is a right A^{coH} -direct summand of A.

In a similar way, we can study the equivalent condition for the another Morita map $F: A \otimes_{A^{coH}} Q \to \#_{H^L}(H, A), F(a \otimes_{A^{coH}} \lambda) = a\lambda$ to be surjective when H is finite dimensional.

3. Application to endomorphism algebras induced by coquasitriangular weak Hopf algebras

In this section, we obtain a Morita context for endomorphism algebras for weak Doi-Hopf modules induced by coquasitriangular weak Hopf algebras.

Definition 3.1. A k-linear map $\sigma : H \otimes_{H^L H^R} H \to k$ is called a *weak invertible* 2-cocycle if the following conditions are satisfied:

$$\sigma(1_H, x) = \sigma(x, 1_H) = \varepsilon(x), \tag{31}$$

$$\sigma(x_1, z_1)\sigma(y, x_2 z_2) = \sigma(y_1, x_1)\sigma(y_2 x_2, z),$$
(32)

and there exists $\tau: H \otimes_{H^L H^R} H \to k$ such that

$$\sigma(x_1, y_1)\tau(x_2, y_2) = \varepsilon(yx), \tag{33}$$

$$\tau(x_1, y_1)\sigma(x_2, y_2) = \varepsilon(xy), \tag{34}$$

for all $x, y, z \in H$, where τ is called a weak inverse of σ and denoted by σ^{-1} . Here H is both a right $H^L H^R$ -module via $h \cdot (h^L g^R) = S(h^L) h g^R$, and a left $H^L H^R$ -module via its multiplication.

Definition 3.2. A coquasitriangular weak Hopf algebra is a pair (H, σ) , consisting H and a weak invertible 2-cocycle $\sigma : H \otimes_{H^L H^R} H \to k$ such that

$$\sigma(x_1, y_1) x_2 y_2 = \sigma(x_2, y_2) y_1 x_1, \tag{35}$$

$$\sigma(x, yz) = \sigma(x_1, z)\sigma(x_2, y), \tag{36}$$

$$\sigma(xy,z) = \sigma(x,z_1)\sigma(y,z_2), \qquad (37)$$

for all $x, y, z \in H$.

Definition 3.3. Let (H, σ) be a coquasitriangular weak Hopf algebra, and A a weak right H-comodule algebra. We say A is quantum commutative with respect to (H, σ) if

$$ab = \sigma^{-1}(b_{(1)}, a_{(1)})b_{(0)}a_{(0)}, \tag{38}$$

for all $a, b \in A$.

Proposition 3.4. Let (H, σ) be a coquasitriangular weak Hopf algebra, and A a weak right H-comodule algebra. Then A is quantum commutative with respect to (H, σ) if and only if

$$ab = \sigma(a_{(1)}, b_{(1)})b_{(0)}a_{(0)}, \tag{39}$$

for all $a, b \in A$.

Proof. For any $a, b \in A$, if A is quantum commutative with respect to (H, σ) , we have

$$\sigma(a_{(1)}, b_{(1)})b_{(0)}a_{(0)} \stackrel{(38)}{=} \sigma(a_{(2)}, b_{(2)})\sigma^{-1}(a_{(1)}, b_{(1)})a_{(0)}b_{(0)}$$

= $\varepsilon(a_{(1)}b_{(1)})a_{(0)}b_{(0)} = ab.$

Conversely, if (39) holds, then by (33), we get (38).

Lemma 3.5. Let (H, σ) be a coquasitriangular weak Hopf algebra, and A a quantum commutative weak right H-comodule algebra with respect to (H, σ) . For any $M \in {}_{A}\mathfrak{M}^{H}$, define a right action of A on M by

$$m \leftarrow a = \sigma(m_{(1)}, a_{(1)})a_{(0)} \cdot m_{(0)}, \tag{40}$$

for all $a \in A, m \in M$. Then this action makes M into both an A-A-bimodule and a weak right (A, H)-Hopf module, that is, $M \in {}_{A}\mathfrak{M}_{A}^{H}$.

Proof. For any $a, b \in A$ and $m \in M$,

Moreover,

$$\begin{array}{lll} (a \cdot m) \leftharpoonup b & = & \sigma(a_{(1)}m_{(1)}, b_{(1)})b_{(0)}a_{(0)} \cdot m_{(0)} \\ & \stackrel{(37)}{=} & \sigma(a_{(1)}, b_{(1)})\sigma(m_{(1)}, b_{(2)})b_{(0)}a_{(0)} \cdot m_{(0)} \\ & \stackrel{(39)}{=} & \sigma(m_{(1)}, b_{(1)})ab_{(0)} \cdot m_{(0)} = a \cdot (m \leftharpoonup b). \end{array}$$

Hence, M is an A-A-bimodule. At the same time, we have

$$\begin{array}{lll}
\rho(m \leftarrow a) &=& \sigma(m_{(1)}, a_{(1)})\rho(a_{(0)} \cdot m_{(0)}) \\
&=& \sigma(m_{(2)}, a_{(2)})a_{(0)} \cdot m_{(0)} \otimes a_{(1)}m_{(1)} \\
&\stackrel{(35)}{=}& \sigma(m_{(1)}, a_{(1)})a_{(0)} \cdot m_{(0)} \otimes m_{(2)}a_{(2)} \\
&=& a_{(0)} \leftarrow m_{(0)} \otimes m_{(1)}a_{(1)}.
\end{array}$$

Hence, M is a weak right Doi-Hopf module.

14

Proposition 3.6. Let (H, σ) be a coquasitriangular weak Hopf algebra, and A a quantum commutative weak right H-comodule algebra with respect to (H, σ) . Then, for all $M, N \in {}_{A}\mathfrak{M}^{H}$, $Hom_{A}(M, N)$ is a left $\#_{H^{L}}(H, A)$ -module, where $Hom_{A}(M, N)$ denotes the set of right A-linear maps from H to A.

Proof. For any $M, N \in {}_{A}\mathfrak{M}^{H}$, by Lemma 2.4 M and N can be defined as right A-modules and made into A-A-bimodules and weak right Doi-Hopf modules. It is easy to check that the following makes $Hom_{A}(M, N)$ into a left $\#_{H^{L}}(H, A)$ -module by (W15) in [13]:

$$(\alpha \cdot f)(m) = \alpha(f(m_{(0)})_{(1)}S(m_{(1)})) \cdot f(m_{(0)})_{(0)}, \tag{41}$$

for all $\alpha \in \#_{H^L}(H, A), f \in Hom_A(M, N)$ and $m \in M$.

The following lemma can be found in [13].

Lemma 3.7. Let $M, N \in {}_{A}\mathfrak{M}^{H}$. Then $Hom_{A}(M, N)$ is a right H-comodule with coaction given by

$$f_{(0)}(m) \otimes f_{(1)} = f(m_{(0)})_{(0)} \otimes f(m_{(0)})_{(1)} S(m_{(1)}), \tag{42}$$

such that $Hom_A(M, N)^{coH} = Hom_A^H(M, N)$ (the linear space of weak right Doi-Hopf module maps from M to N). Consequently, $End_A(M)$ is a weak right Hcomodule algebra.

By Theorem 2.8 and Lemma 3.7, we have a Morita context for endomorphism algebra for weak Doi-Hopf modules induced by coquasitriangular weak Hopf algebras.

In what follows, we always assume that $M \in {}_{A}\mathfrak{M}^{H}$.

Theorem 3.8. Let H be a coquasitriangular weak Hopf algebra, A a weak right H-comodule algebra. Then

 $(\#_{H^{L}}(H, End_{A}(M)), End_{A}^{H}(M), \#_{H^{L}}(H, End_{A}(M)) End_{A}(M)_{End_{A}^{H}(M)}, End_{A}^{H}(M)^{T} \#_{H^{L}}(H, End_{A}(M)))$ forms a Morita context, where

$$T = \{ \lambda \in \#_{H^L}(H, End_A(M)) | \ \lambda(h_2)(1_{(0)} \cdot m) \otimes S(1_{(1)})h_1 = \\ \lambda(h)(m_{(0)})_{(0)} \otimes S(\lambda(h)(m_{(0)})_{(1)}S(m_{(1)})), \forall h \in H, m \in M \}.$$

Proof. By the definition of Q in Corollary 2.5, we have

$$\begin{split} \lambda(h_2)(1_{(0)}(m)) \otimes S(1_{(1)})h_1 &= \lambda(h)_{(0)}(m) \otimes S(\lambda(h)_{(1)}) \\ \stackrel{(42)}{\Longrightarrow} & \lambda(h_2)(m_{(0)}) \otimes S(m_{(1)}S(m_{(2)}))h_1 &= \lambda(h)(m_{(0)})_{(0)} \otimes S(\lambda(h)(m_{(0)})_{(1)}S(m_{(1)})) \\ \implies & \lambda(h_2)(m_{(0)}) \otimes S(\Pi^L(m_{(1)}))h_1 &= \lambda(h)(m_{(0)})_{(0)} \otimes S(\lambda(h)(m_{(0)})_{(1)}S(m_{(1)})) \\ \implies & \lambda(h_2)(1_{(0)} \cdot m) \otimes S(1_{(1)})h_1 &= \lambda(h)(m_{(0)})_{(0)} \otimes S(\lambda(h)(m_{(0)})_{(1)}S(m_{(1)})), \end{split}$$

as needed. So, according to Theorem 2.8, the conclusion holds.

Corollary 3.9. Let H be a coquasitriangular weak Hopf algebra with bijective antipode S, A a weak right H-comodule algebra and $B = A^{coH}$. Then

$$(\#_{H^L}(H,A), B, \#_{H^L}(H,A)A_B, {}_BT'_{\#_{H^L}(H,A)})$$

forms a Morita context, where

$$T' = \{\lambda \in \#_{H^L}(H, A) \mid \lambda(h)_{(0)} \otimes \lambda(h)_{(1)} = \lambda(h_2) \mathbf{1}_{(0)} \otimes S^{-1}(h_1) \mathbf{1}_{(1)} \}.$$

Proof. Let A = M. Then, $End_A(A) \cong A$. Hence, $End_A^H(A) \cong B$ by Lemma 2.4 in [13]. Thus, the conclusion holds by Corollary 2.5 and Theorem 3.8.

Corollary 3.10. Let H be a finite dimensional coquasitriangular weak Hopf algebra, A a weak right H-comodule algebra. Then

$$(End_B(M), End_A^H(M), End_B(M) End_A(M)_{End_A^H(M)}, End_A^H(M) T_{End_B(M)})$$

forms a Morita context. In particular,

$$(End_B(A), B, End_B(A)A_B, {}_{A}T'_{End_B(A)})$$

forms a Morita context.

Proof. Since H is finite dimensional and by Theorem 2.8 in [9], we know that

$$\#_{H^L}(H, End_A(M)) \cong End_A(M) \# H^* \cong End_B(M)$$

as algebras. Then, the conclusion holds by Theorem 3.8.

Corollary 3.11. Let H be a coquasitriangular Hopf algebra with bijective antipode S, A a weak right H-comodule algebra and $B = A^{coH}$. Then

$$(\#(H,A), B, _{\#(H,A)}A_B, _BT'_{\#(H,A)})$$

forms a Morita context, where $T' = \{\lambda \in \#(H, A) \mid \rho_A(\lambda(h)) = \lambda(h_2) \otimes S^{-1}(h_1)\},\$ i.e., the set of all right H-colinear maps from H to A. Here, H is a right Hcomodule via $\rho_H = (id \otimes S^{-1}) \circ \tau \circ \triangle$.

Proof. It is straightforward by Corollary 3.9.

Acknowledgment. The authors would like to thank the referee for the valuable comments.

References

- G. Böhm, F. Nill and K. Szlachányi, Weak Hopf algebras (I): Integral theory and C^{*}-structure, J. Algebra, 221(2) (1999), 385-438.
- [2] S. Caenepeel and E. De Groot, Modules over weak entwining structures, Contemp. Math., 267 (2000), 31-54.
- [3] Y. Doi, Generalized smash products and Morita contexts for arbitrary Hopf algebras, Advances in Hopf Algebras, Lecture Notes in Pure and Appl. Math., Dekker, New York, 158 (1994), 39-53.
- [4] V. G. Drinfel'd, *Quantum groups*, Proceedings of the International Congress of Mathematicians, Vol. 1, 2 (Berkeley, Calif., 1986), 798-820, Amer. Math. Soc., Providence, RI, 1987.
- [5] R. G. Larson and J. Towber, Two dual classes of bialgebras related to the concepts of "quantum group" and "quantum Lie algebra", Comm. Algebra, 19 (1991), 3295-3345.
- [6] S. Montgomery, Hopf Algebras and Their Actions on Rings, CBMS Regional Conference Series in Mathematics, 82, Published for the Conference Board of the Mathematical Sciences, Washington, DC, Amer. Math. Soc., Providence, RI, 1993.
- [7] D. Nikshych, V. Turaev and L. Vainerman, Invariants of knots and 3-manifolds from quantum groupoids, Topology Appl., 127 (2003), 91-123.
- [8] D. Nikshych and L. Vainerman, *Finite quantum groupoids and their applica*tions, New directions in Hopf algebras, Math. Sci. Res. Inst. Publ., Cambridge Univ. Press, Cambridge, 43 (2002), 211-262.
- [9] R. F. Niu, Y. Wang and L. Y. Zhang, The structure theorem of endomorphism algebras for weak Doi-Hopf modules, Acta Math. Hungar., 127(3) (2010), 273-290.
- [10] A. B. Rodríguez Raposo, Crossed products for weak Hopf algebras, Comm. Algebra, 37(7) (2009), 2274-2289.
- [11] M. E. Sweedler, Hopf Algebras, Mathematics Lecture Note Series W. A. Benjamin, Inc., New York, 1969.
- [12] Z. W. Wang, Y. Y Chen and L. Y. Zhang, Total integral for weak Doi-Koppinen data, Algebr. Represent. Theory, 16(4) (2013), 931-953.
- [13] Y. Wang and L. Y. Zhang, The structure theorem and duality theorem for endomorphism algebras of weak Hopf algebras, J. Pure Appl. Algebra, 215(6) (2011), 1133-1145.

- [14] W. J. Zhai and L. Y. Zhang, Maschke's theorem for smash products of quasitriangular weak Hopf algebras, Abh. Math. Semin. Univ. Hambg., 81(1) (2011), 35-44.
- [15] L. Zhang and Y. Li, Homomorphisms, separable extensions and Morita maps for weak module algebras, Sib. Math. J., 52(1) (2011), 167-177.

Zhongwei Wang

Department of Basic Sciences Jinling Institute of Technology 211169 Nanjing, China e-mail: wangzhongwei@jit.edu.cn

Yuanyuan Chen and Liangyun Zhang

College of Science Nanjing Agricultural University 210095 Nanjing, China e-mails: chenyuanyuan@njau.edu.cn (Y. Chen) zlyun@njau.edu.cn (L. Zhang)